ERNZAROZEEERT — 2 ~N—XIBISH —F 2014511598 (H) 10EE%16H

m A—3 A H5%—M B
[AE4£] 1% :150,000  ~ 2#%:38,000” ~ 337%&:18,000 M . 43&:12,000 M 537 :8,000
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— Lk GIN 145, ~7-5- . — KBS (FH)
(55| vt—8—F2—7 6 i 1(4_5)9 7-7-5-1 | 39.5 6 <4+532) el
L:€r/saJo4 B:X¥/trbex B B
¢S o4 | BEEX 1:46.7 4-4-4-2 | 40.6 | — 1 462 | AAREB) (BHI)
2R 3| TR -AXT 54.0 () () | EULET
LN—=Y754 B:EXIA-N—-=27 BT 7 —L4
. 4 o4 | BIX 1:46.7 8-8-8-3 [39.8| — 4 475 | ITHER ()
3l 2 AT R 56.0 (7€) (g |EHET
RFLIThT— BTy P
c= s S P o3 | PEED 1:47.0 1-1-1-4 | #1.1| — 3 487 | KERRZ (FH)
4111 FZ3>F14— 55.0 (1 1/2) (-q) | EOARES
RHIRT 4 TSR BT —H s — A4
3 = 210 | ERERY 1:47.2 10-10-10-6 | 39.2 | — 8 474 | NIEBE (BH)
sl 4| INERA45Y 7] 86.0 ) L) |BHBE
L:vAxNTT B XTV—LT1—> R EAE
S # o8 | WBE 1:47.7 5-5-7-5 | 41.4| — 9 520 | BIAFRE (FH)
e ¥IFMTINT 5.0 2172 s | TEERS
RV KYIYRIZR BHFAY—ETS— EviLy RT7—L
IR 1EREH : —6-6- — EHARE (SH)
gl 7usvT—7 it 4 ER%3 1.(479>.2 6-6-6-7 | 43.0 5 <4+128) N
RivARNTT BTRYIREF R4S
SN e : -3-3- — NBEE (FH)
gl7|7|N=>N=2N=2 R 1(,‘\“;)2 MAAAN R ? (f?;) R E
R:T7TaT745—F714>9 B:IXZA4T Il #Et
£ 4 | KHFAE 1:49.7 2-2-2-9 | 43.7| - 7 495 | HEFT (BH)
9189 TATAT 72 - 56.0 (2 1/2) (o) |EOWES
’\ﬁf?x/v— B:UvAMRy—hy— ERKS
Py R —2 4 4 | BEIURE 1:49.7 9-9-9-10 |42.2| — 10 | 483 | LEEXm (BA)
10(7|8|7vFr=> 56.0 () L) |ERET
R:TF2TLH— BHLYT) R IIT5TT— I
® 1—F—@EBIERL
1T=7r= 1,9,7,3,6,10,5,2,8,4
20—F— 1,9,7,3,6,10,5,2,8,4
Ja=5= 1,9,7,3,5,10,6,2,8,4
43—+ — 5,3,2,1,6,4,10,7,9,8
[ /N
B 5 1,570M 74K 3-5 380 e E 3-5 660 JEE 2-3-5 1,580
B B 5 190M4 2=l5 710 B & B 560M JEE B2 14,490M
3 1004 2-3 290M B E 5-3 2,050
2 170

ABTICOVTRDTEEERROODE, JHB LS,



